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replacement of the Test Booklet, Answer Sheet and the
Drrawing Sheet.

1.

2.

e Y F 8 T W REvgs fagm ey a0 wio
gz 478 aeRE 1)

0 Ty gl & i wm - MI L, W I T e L
gt ¥ M 1 H it & 30 g e R wee W
*F W I F TR wr (4) A% Pt R om ) wm 1
(sfirefa wlam) ¥ 50 aE 799 § A v v I E
fou | (4) @iw &1 @ wF w1 39 3R T e @
TR A H W R W % W 8 e e st iR
IV UA & Y5-1 U9 §F-2 ov @i faaer faa g I
3feRa FTF B FacT At/ FI T WFE T BT F =T
&/ Gfam & W I H 2 99 § fora fer 70 o5 fasifa
£ 1 e wyw 5T e i 3 ofwt Tt g v W §1
e W g fvift o wva ¥ wopm wfee ¥ g eie
OT ST {1 O SrraT At & B g #4 wrAit &
T T gy T & 1 A7 9 (L H 5EF 7o 3 F
feru =4 wea & foaa Ferifta gt +i A & gap-aiteand (V) &
T 1M § F Fe fog snn ) ufe 3w e v W e
Fore 7 foan v, A Fe A d A o TEF aed i
Y Qe 9f5a F W | AR w1 § TeEE WA S
U 9 T8 IR E 9§ st 39 33 w39 e I A
T T I e 2 F WER AE Fe g
i #t amafa 3T T iy oiE 390 )

iten T T T, it ot uE ey witeror-vr
wF II & 370 73 E 2rfiwfe ufieror-ser 111 =1 =g vie
Ty & s 1 diue @ o ae/ o ors | ydandt
arfvrsfa wrgror- W [ ud 11 = i i g
THd F

¥ Yo = WA Y §1 v i w el e ogg giew
w1 Hahd, ST TR % gE-2 vd 300 92 { W-101) W
Hha § fomm &1 T ¥ giTEn e W R e gfee, IR
TR TH EEY W W FE e ey §) oS g W e
dem fm &, & whanfedal & i § 580 i e,
I v oF 3 vt #9 % fau 3 U0 W AT« su
HUAT =l |

Name of the Candidate (in Capitals) :
e & A (FS e H)

Roll Number
AgHHE

Examunation Centre Number
THaT hE T
Centre of Examination (in Capitals)

T HE (a3 i H ) ¢

Collected by : www.architecturentrance.blogspot.com

1 May 2011

tin figures

L 97T o

rinwords

Candidate’s Signature :
Tenel & gEan ;

Invigilalor's Signature (1) :
iesen & g (1)
Invigilator’s Signature (2) :

frdtegar o TR (2)



Part 1 / 9T 1
Mathematics / TIfoTa

The function f (¥)=xe " has :

(1) neither maximum nor minimum at

x=1
(2}  a minimum at x=1
(3) a maximum at x=1

(4) a maximum at x= -1

If P(A)=0.4, P(B)=0.6 and
P(AnB)=0.15, then the wvalue of
P(AJA'UBY) is :

-

n L

@) 17

5

5 10

The area of the region bounded by the

curves y=1-x2, x+y+1=0 and

x—y—1=0is :
1 1%
@ 7
@ %

4) 3

1.

AT f()y=xe” CHI ¢

(1) x=19RAq FT0 7H ¥ 2R 7 &

B

() x=1TR a0 97 §
(3) x=1 W I=a9 AA &

(4) x=—1W F=a9 9H §

afe  P(A)=0.4, P(B)=0.6 I
P(ANB)=0.15 T P(A]A' U B) F1 717 & :

@)

Sahi y=1-x2 x+y+1=0Tq x—y—1=0
ERICEA PR EE T

1y 104
2 A
@ %

(4) 3
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If the mean and standard deviation of 20

observations le Xz, ) COR . X20 are 50

20
and 10 respectively, then Z X? is equal

to:

=1

2510

50200

52000

2600

If X0, x5, X3, i, X154 are in AP then the

el 1 ex-l €x7

value of | % ¢%7 10 | is:
e’7 ' gt

()y 27

(2) 0

(@) 1

4) 9

[f the sum of the coefficients in the

ufe 20 T Xy, Xy, X, voener , X 1 H1EA
a7 WiFE fa=es sA 50 99 10 €, 1l

20
S X mERE:
i=1

(1) 2510
(2) 50200
(3) 52000
(4) 2600

Tt Xy Xoy Xay i, Xy THIRIL gt o

MY e | A E
NG LI

(1y 27

2y 0

3) 1

4) 9

AT (x+ )" F FER H TR BT AT 2048 7,

expansion of (x-+y)" is 2048, then the @ TR H Feg @9 S F
greatest coefficient in the expansion is
(1) 'iDCﬁ (1) 1UC6
2 g, 2 lc,
3) V¢, 3) ¢
(4) 12¢, 4)
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A committee consisting of at least three
members is to be formed tfrom a group of
6 boys and 6 girls such that it always has
a bay and a girl. The number of ways to
form such committee is :

(1) 212-27-13

(2) 211-26-143

(3) 212-27-35

(4y 211-27-35

The values of o and (B such that

7 -
lim {x +L—ax—2fﬂ}=§ are :

Y= | x4 1]

(1) a=-1p=%
(2) e=Lp=-%

Statement - 1 :

~(A = ~B) is equivalent to A < B.

Statement - 2 :

Av (~(A A ~B)) a tautology.

(1) Statement - 1 is false, Statement - 2
is true,

(2) Statement - 1 is ttue, Statement - 2 is
true; Statement - 2 is a correct
explanation tor Statement - 1.

(3) Statement - 1 is true, Statement - 2 is
true; Statement - 2 is not a correct
explanation for Statement - 1.

(4) Statement - 1 is true, Statement - 2 is

false.

6 @EH! AW 6 ASIHA K TH TIZ H &
3 TEH i U U H T FE ¢ fAEE
AT U T 991 U T3HT €l | 36 F] H

4 «=1LB=-
Shgi-1:

~(Ae>~B), A B F FITET &
ST -2:

Av (~(A A ~B)) TF TTHF T
(1) FUF-1399A L, FUF -2 FA Z|

(2) FU .19 T FUH -2 HqA T
T - 2, B - 1 FI TE T T

(3) HUA-1HHE T -2 TA
T - 2, WU - 1 FT G B TG e

(4) YA -19A T, FUF -2 FTF T
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10. The latus rectum of the conic section | 10. % =87 9x2+4y2—36=0 1 MW @F

9v2 4+ 4y2—36=0 is : R

Y% S

@ % @ %

@ % ® %

(4) 9 4) 9

11. Let A and B be two 2 x 2 matrices, 11. TFT ATINIBTI2%2F HAg %I

Statement - 1 : wYT-1:

Afad] A)=|AL. Afadj A)= | AL,

Statement - 2 : hAT-2:

ad] (AB)= (adj A}(adj B). adj (AB)=(adj A)(adj B).

(1)  Statement - 1 is false, Statement - 2 (1) -1 9T 5, FH -2 FA T |
is true.

{2)  Statement - 1 is true, Statement - 2 is (2) FUT-1THE, FU - 2TA §
true; Statement - 2 is a correct W—Z,W-lﬁ@'&ﬁ@@%l
explanation for Statement - 1.

(3) Statement - 1 is true, Statement - 2 is (3) YT -18H % U - 29 B
true; Statement - 2 is wot a correct YA - 2, FYA-1 Fl T A T ¢ |
explanation for Statement - 1.

(4) Statement - 1 is true, Statement - 2 is 4) A -1TH T, T - 2 99 T
false.

Page5 SPACE FOR ROUGH WORK / T% el & fofe wiime
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12. Statement -1: 12, &¥UT-1:
If f(x) ="~ 73 then Rolle’s theorem A f) =¥V ETNE @ f) R I
is applicable to f(x) in the interval 1, 3]. g S0 [1, 3] | @0 €
Statement - 2 : HhT - 2
Mean value theorem is applicable to MAE THA _f(_'l')=€(r—1) (=D ) e
fx) =7V 4 the interval (1, 4]. (1, 4] § @M 21
(1) Statement - 1 is false, Statement - 2 (1) =YF -1 HAGH ?, HYT - 2T B
Is true.
(2) Statement - 1 is true, Statement - 2 is (2) FH-1TAE, FUF -2 TH T
true; Statement - 2 is a correct HYF - 2, Y- 1 ¥ g =rE §
explanation for Statement - 1.
(3) Statement - 1 is true, Statement - 2 is (3) FY-1TAE, FUT- 29 T
true; Statement - 2 is wot a correct FUF - 2, U - 1 T G AT TG T |
explanation for Statement - 1.
(4) Statement - 1 is true, Statement - 2 is (4) FUF -1 TA T, HUA - 2 FEA gl
talse.
13. tan 9°—tan 27°—tan 63 +tan 81° is equal | 13. tan 9 —tan 27°—tan 63°+ tan 81° &1 WA
to ! T
(1) 1 4
(2) (2) 0
(3) 1 (31 1
4 -1 4 -1
14. If y{x) is a solution of the differential | 14. A y(x) HAFT FHHRI :—i+3]/:2 1
o dy , Qo ;
equation E +3y=2, then t{r!.—':!oo y(x)is Th e & xl:_r::ﬁ y(x) GO E
equal to :
1 1 (1 1
(2) 0 2) 0
3 3
3 3 3 5
(4) % (4) %
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o 2 .
15. ‘[ min (sinx, cosx )dx, equals to : 15. _[ min (sin x, cos xX)dx, S T
0

1 242 M 2y2
2) 2 2 2
& 2-v2 3) 2-V2
4) 2+V2 4) 2442
16. If fUﬁ={§?ﬁiif::, then the | 16. #fg fuq={g;;iif:;
derivative of f(x) at x= -1 s : £ (x) =1 3TERe B
(1) 2 1y 2
2) 0O 2) 0
e 3 6 5
4) 3 4) 3

17. If 2 and b are such that a sin =5 cos 0 for | 17. qﬁiaﬁ?ﬂb@%ﬁasmﬂ:bcosﬂﬁ

[a=b  fatb fa=b [a+b
T —_—t . m feg, T
058<A:then a+b \a—b equals : 0$9<A% ?h'\'a+b a—b

T E
2 2z
M T30 M) Jeos2e
(2) 2cos® (2) 2cosb
2cos b 2cos b
(3) Jeoos2 8 (3) Jeos2 0
2sin b 2sinb
@) Josoe @) JTos2e
Page7 SPACE FOR ROUGH WORK / T &1 & fe1e smrg

Collected by : www.architecturentrance.blogspot.com



18. The acute angle between the tangents | 18. a5 (1, 4) ¥ Waag 2 = 4x R Wil 78 ¥
drawn from the point (1, 4} to the parabola @A F 99 A I
yr=4x is :
A Mm%
@ % @ %
3) T4 3 74
@ v @ T
19. If a plane meets the coordinate axes at A, | 19. i uF Tuad Tadonw a1al = A, BTIMCEW
B and C and AABC has centroid at the faetar & 991 AABC &1 & =& fa=x
point G(g % %) then the equation of G‘; % ‘E) T E, T AEGE TR F
the plane is :
x ¥y z 3 . r v oz 3
(1)ab¢:2 (IJTE?LZ
x Yy z 2 . x  uw = 2
@) a b ¢ 3 ) a b 3
) a b ¢ 2 ) a b ¢ 2
o vzl g Se¥,z_1
*) a b ¢ () a b ¢ 3
1 x> +#
20, Let f R—R be defined as |20. HAIf:RR WMREf(x)=] - el
0 _
2 2
1 x°+¢ .
f(x)= _[0 — dt. Then the curve B A FH y=f(x) T :
y=f(x)is:
(1)  an ellipse (1) =rEgas
(2)  a straight line (2) WATEE
(3) a parabola (3) T &
(4)  a hyperbola (4) sfdrEeas ¥
Page 8 SPACE FOR ROUGH WORK /Y% & & faw wmg
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21. Statement -1: 21. 9T 1:
2 2 .
The function f(x)=x%¢"* sin|x| is even. e f(x)=x2¢ ¥ sin|x| T 99 Ferd B
Statement - 2 : h¥ 2
Product of two odd functions is an even 4 faum vl =it O TUeh 99 He 2
function,
(1) Statement - 1 is false, Statement - 2 (1) F¥F-139A g, HI7 -2 A T
is true,
(2) Statement - 1 is true, Statement - 2 is (2) HYT-19" T, YA - 2 9 B
true; Statement - 2 is a correct DY -2, hYi-1 I e S T
explanation for Statement - 1.
(3) Statement - 1 is true, Statement - 2 is (3) FA-1TAE, F-290 T
true; Statement - 2 is ot a correct FU - 2, A - 1 HI HE AT TG 8 |
explanation for Statement - 1,
(4) Statement - 1 is true, Statement - 2 is (4) Y1 -14HH ¥, Y - 2 I
false.
22, Area of a triangle with vertices given by | 22. TS, {9 ¥ , iz, z + iz ¥ 5 2 W& wimg
z, iz, z+iz, where z is any complex R €, & 8% B
number, is :
(1) 0 (1) 0
1, 1,2
2z |z
@ 5l @ 5l
2
ONNE ® |2l
@) 2|z|* @) 2|z|?
Page 9 SPACE FOR ROUGH WORK / 7% &hTd o fetg w7
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23. Statement -1: 23, &YI-1:
The equation |x| + |y| =2 represents a HHH T [x|+ |y|=2TH I Tsl'g[.’iﬁ
parallelogram. Frefta #xar 5
Statement - 2 : HeT -2
Lines x +y=2 and x+y= —2 are parallel. @ Xx+y=2T x+y=—2 AR g
Also lines x—y=2 and —x+y=2 are W@ x—y =27 —x+y=2 9 AR gl
parallel.
(1) Statement - 1 is false, Statement - 2 (1) FF -1 3J9AF §, 9 - 2 FA T
is true.
(2) Statement -1 is true, Statement - 2 is (2) FH-1TAE TP -2F/A &
true; Statement - 2 is a correct FF - 2, T - 1 Y TS AT §
explanation for Statement - 1.
(3) Statement -1 is true, Statement - 2 is (3) FUT-1TFE FH-2TA 1
true; Statement - 2 is nof a correct HYd -2, HYUT-1] F] el e ?37‘%!
explanation for Statement - 1.
(4) Statement - 1 is true, Statement - 2 is (4) FYF-1TA §, FYT - 2 39HA )
false.
24, Shortest distance between z-axis and the | 24. z-#&F qon @ © ; 2 =3 s 1 & &4
2 -5
line ¥=2_¥—5_2+1 ;.
3 2 -5 AR
1 1
0 73 W /3
2 1 2 1
2 33 (2 33
) JI1 @) V11
13 13
11 11
4 TS SN
Page 10 SPACE FOR ROUGH WORK / 7% #htdl o feru =g
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25. If x2--3x+2 is a factor of x*—ax2+6=0, | 25. A x2—3x+27H THAGESE & -ax2+h=0
then the equation whose roots are ¢ and b w1, A IF IR (S (@ a q b § 7
is:

(1) x2+9x+20=0 (1) x2+9x+20=0
(2) x2-9x—20=0 (2) x?-9x—20=0
(3) x2—9x+20=0 (3) x2—9x+20=0
(4) x2+9x—-20=0 (4) x2+9x—-20=0
s = = o - — s -

26, Let OA=a, OB=2bK+10 « and | 26. AT OA=a, OB=256+10 a4 Ul
OC =5 where Ois the origin. If p is the |! 0C=1 % &1 OHa fag §1 afe p, 9
area of the quadrilateral OABC and ¢ is OABC %1 8¢ & el § Uah UH HHH A
the area of the parailelogram with OA and F A § FTEhl 3 33!"1{' OA A OC
OC as adjacent sides then p is equal to : g, p A T :

(1) ¢° (1 q°
(2) 6gq (2) 64
® % ® %
(4) 6-4g (4) 6-q

27. Let p, g, r be real numbers such that | 27. HMHAT p, g, r T:flﬂ arafa® @'@Tff 7 &

p+q+r»0. The system of linear equations p+q+r=0, @ Tas gitwm
x+2y—-3z=p x+2y—3z=p
2x+oy—1lz=gq 2x+oy—1lz=q
x—2y+7z=r x=2y+7z=r

has at least one solution if : FI FH H FY UF 74 ¢ 4iQ

(1) 5p—-2q—r=0 (1) 5p—29-—r=0

(2) Sp+2g+r=0 (2) 5p+25+r=0

(3) Sp—29+r=0 (3) Sp-2g+r=0

(4) bdp+2q—r=0 4y 5p+27-—r=0

Page 11 SPACE FOR ROUGH WORK / T %14 o feq w18
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28.

29.

30.

The equation of acurveis given by y=f(x),
where f"(x
tangents at points (1, f(1)), (2

) is a continuous function. The
. f(2)) and

™

(3, f(3)) make angles g g and ry

respectively with the positive x-axis. Then

J.f(x dx+_[f x)dx is:
(n 1
1
@ ~3
1
G T
0

The equation of a circle of area 22+ square
units for which each of the two lines
2x+y=2 and x—y= —5 is diameter, is :
(1) x24+y?>—2x+8y—5=0
(2) 22+4y?~-2x—8y—5=0
3) xZ2+y?+2x—8y—5=0
(4) x>+y?+2x+8y—5=0

Consider the following relations

Ry={(x, ¥)

x=ay or y=ax for some integer a}

: X, i are integers and

R,=1(x, ¥) : x, y are integers and

ax +by=1 for some integers a, b}
Then
(1
(2)
(3)

R, R, are not equivalence relations.
R, R, are equivalence relations

R, is an equivalence relation but R,
is not

(4) R, is an equivalence relation but Ry
is not

28.

29.

30.

31 fagal
(2)) T (3, f(3)) W HIH
-~y = = fgun & Wiy

am%%#M$ﬁ%ﬁ

T o 1 HWHE y=f(x)
SR () T H e

(1, F(1), (2, f
ﬂémﬁ‘(@m
s HET: *gfg

3
[ £ x)f(J.)dx+_[f )dx FRLE

(1) 1

1

@ "7
1

G 7
4) 0

22+ T TR AFEA A g9, sl Iow

@ Zt+y=2 q4r x—y= -5 7Ary g, &
. _6

(1) -5=0

(2) x2+y2—2x—8y—5=0

(3) 5=t

)

24+ y?+ 2 -8y —
x4 y2+2x 4+ 8y —5=0

Ry ={(x, 1) : x T y T & QAT x =ay 3200
y=ax,ﬁﬂ°fqpﬁ3'zﬁn %fa‘Q}

Roy=[(x, y) : x, y‘i'\“ﬁ‘m“ ¥ a ax+by=1,
o=l quiteni o Ao b % fora ), < -

_—
—
S

R, 791 R, Toaal Ha9 &l ©
R, HWRZW.H?HE |
R, T oI ¥4 € W R, Tl

—
ra
—

(4) R, % goadl Gau § W Ry TEl

Pagel12
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Part II / W II
Aptitude Test / afirsfe adigror

Directions : (For Q. 31 to 37).  The 3 - D problem figure shows a view of an object. Identify the
correct front view, from amongst the answer figures, looking in the
direction of arrow.

Fafer: (m31@37a& f@)  3-D 597 apla 4 T ag & 0F 5v9 & @ 1 &1 ik &1 e
4 3@ 5T 599 G @ §v9 ¥ IW nFfaal 7 9§ vedf1a;

Problem Figure | 57 31pld Answer Figures / I sgtaal
- _ F —
31. L
- M @ ©) @
] ] [ 1
32. [ | 7 ﬁ |
. (1) @ (3) 4
33.
o (1 © @ @
Page13 SPACE FOR ROUGH WORK /1% %14 & fag wig
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Problem Figure | Y97 371gfd

Answer Figures | It STplaal

34,
35.
36.
. \\:/ . — JLE
—y s —
™~ 1) e ) ()
Page 14 SPACE FOR ROUGH WORK / 7o & T4 & fau wrg
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Directions : (For Q. 38 and 39).  Find the odd figure out in the problem figures given below :
fdor: (W38 339 & fow )1 frefalaa & 75 go7 sipfaal 3 @ fagq sifd Fard |

SO T
1) @)
39. ﬁ M
/

1) (2) 3) (4)

Directions : (For Q. 40 to 44).  Find out the total number of surfaces of the object given below in
the problem figure.

faer: (W40 944 @& @)1 797 Fipla 4 Foifea awg & gasl &1 3o G&7 F1d Fifa |
Problem Figure /| 97 Hrld

40. LQL\.W (1) 15 (2) 12 (3) 13 4) 14
41, (1 14 (2) 11 (3) 12 4) 13
A
42, (1) 20 2 17 (3) 19 (4) 18
Page 15 SPACE FOR ROUGH WORK /1% T4 & T wrg
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Problem Figure [ 57 3l

43,

44. 1y 12 ) 15 (3) 14 4) 13

Directions : (For Q. 45 and 46). How many total number of triangles are there in the problem figure
given below ?

FAEer: (w45 3lvae & forg )1 19 3§ 78 go7 sl & Ay &1 §7 9&w At &7

Problem Figure [ 5% 371

45.
1y 17 (2) 14 3) 16 4) 18
46,
(1) 13 2) 15 (3) 14 4) 16
Page 16 SPACE FOR ROUGH WORK /7% &1 & forg wrre
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Directions : (For Q. 47 to 49).  Wiiich one of tie answer figures will complete the sequence of the
' threc problem figures ?

FrvT: (W47 849 & foaw )l 390 S05frl & @ S srFEf B a5 SR
T (sequenice) T &1 S0 7

Problem Figures | 397 st Answer Figures / 30 st
i = — —5— £
o (e [t ] ? | HS ff;j LY
= (1 (2) ) (4)
/RN | N /]
" N9 b %} AN @
@ @ f\ 7| ¢ [ %/ <<
(1) (2) 3) (4)
IODIED ? D) &) &) &
- </__7/L VN ;_D = \)
o o " (1) (2) (3) (4)
Direction : (For Q. 50 ).  How maiy total number of squares are there in the problem figure given

below ?

Frdor: (w50 % faw)1 9 & 7 797 angfa & a0f F1 FoT 9w fa 8 2

50. /

(1) 20 (2) 13 (3) 16 4) 19
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Directions : (For Q. 51 and 52).  One of the following answer figures is hidden in the problem figure,
in the same size and direction. Select, witich one is correct ?

R (T51 352 & fem)1 9§ 7 W sl 7 9w ety O SR e g w9 4
T¥T spla 4 fodl €1 Hivd wel g FAw?

Problem Figure / F97 STHld Answer Figures / 3u gl

AN
(1) (2) (3) (4)

)
< = 9
M @) 3) @)

Directions : (For Q. 53 to 55).  Which one of the answer figures, shows the correct view of the
3 - D problem figure, after the probleni figure is opened up ?

FEyr: (T53d55 &FW)1  3-D 597 3l 1 @ 9T 3T B9 § 9 T8 §99 H17a1 8

Problem Figure / Answer Figures | 3T SFfaar
7T JrFla
= % u =
S | l _
53. S@ ik =Jii- L ik
(1) (2) (3) )
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Probleni Figure / Answer Figures / I SFH
797 3;Fld

[
LT[
]
i

Lo

i:)/,
>

I
1
I
J%ﬁl i
e

A
=
———
~ U
.
RS
—
X

[T ]
I
[T ]
[T ]

= 11
[
l
LT1 ]

—
5=
—
o~
2
—
—_—
W
—

Directions : (For Q. 56 und 57).  The problem figure shows the top view of an object. Identify its
correct front view, from amongst the answer figures.

339 : (W56 357 & faw )1 597 ayrgpfa 0 gl avg 1 399 599 fea@mar v &1 3 aFfaa §

T 5997 9 THE §vF TEIfU
Problem Figure/ 997 STgld Answer Figures / 3T gt
o ’|
-7 ik
) @ @ n
7 Q} ’ / \ I:l_gi]
| 2 ) N | ]
(1) (2) (3) (4)
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Directions : (For Q. 58 to 62),  The 3 - D problem figure shows the view of an object. Identify, its
correct top view, from amongst the answer figures.

fdor: (W58962 & @)1 3-D 797 37pfa ¥ OF ag &1 @ 7 &1 59 96! S5 §9F

IR HFla 7 & vE=fw
Problem Figure | F¥7 3l Answer Figures | ST gl
58' @ B ;
(1) (2) (3) (4)
_ ] |
A
(1) (2) (3) 4)
60.
| |
(1) (2) 3) 4)
61. (@ _ﬂ L |
(1) (2) €) (4)
Page 20 SPACE FOR ROUGH WORK /{8 T & faq ovrg

Collectad by : www.architecturentrance.blogspot.com



Problem Figure / N9 2i1gld

Directions :

fAdsr: (W63 @65 forg)i

Problem Figure /
o Sl

— %

K "‘__‘

(For (), 63 to 65).

Answer Figures | 3% 3@fral

B

(1) (4)

Whiclt onte of the answer figures is the correct mirror image of the
problent figure with respect to X —X 7

ST Ffaa d T Fdl Sl § TF §vT Hld F X - X W Tgl
o Yol &7

Answer Figures | I A1l

(1 3) (4

X

O - I‘ /+

64. \{ j | *

P i g

X 1 (2) (3) (4)

,- L1| " o) | [e] &} o) (e 0

65. = \} Q :P —\ 1/ Fll v g
SN ,, ] [o~ o] [o o] (e
(1) (2) (3) 4)
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66. Trees should be planted on which side to | 66. J&li ®1 Yo & g X, T | T=M ¥ fay,
protect buildings from heat gain ? ST A1 =ffea ?
(1) Eastside (1) 8 & 3R-
(2) North (2) W R AR
(3) North - East side (3) IW-d Bl 3R
(4) West side (4) ufFm R &R

67. What is ‘Green Architecture’ ? 67. fomifea ¥ 9 ‘g angsen’ fFd wed €7
(1) Where green coloured glass is used. (1) &l 7L 1 & w9 T wEm fama A
(2)  Where buildings are painted green. (2) SRl TR & I fepa T |
(3) Where building material used have (3) <iel WA H o g e Fmie "

consumed least energy. F1 8 FH Foll 9 =8 T 7
(4) Where maximum green plants are (4) el aAferss | aiferr 53 diel ®) @
used. T & |

68. Who amongst the following is an | 68. TIHifHa®q HH T 9Rfag (architect) 27
architect ?
(1) Raj Rewal (1) TS Er
(2) Ravi Shankar (2) &
(3) Shanker Mahadevan (3) VR TRRET
(4) Usha Uthup (4) NG

69. New Gugenheium museum is designed | 69. = THEH SR Tl TG fohedq &l &2
by :
(1) Frank O Gehry 1) e T
(2) F.L. Wright (2) THTA T
(3) Charles Correa (3) =ed I
(4) LM. Pie (4) smum ¥

70. The Dome of Rashtrapati Bhawan is | 70. Teufq Yo+ =1 Trg wifam @ -
influenced by :
(1) Gurdwara (1) TEUH
(2) Mosque (2) #fEEd
(3) Temple 3) wh=H
(4) Stupa 4) wOE
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71. In buildings, which parts are responsible | 71. AR #, F9 fowy, Fag affus 7 o § 2
for maximum heat gain ?
(1) Chajjas (1) ==
(2) Roofs (2) Bd
(3)  Walls (3) g
(4) Windows (4) fasfEar

2.  Name the city, where canals are used for | 72. 38 Y& &1 7H _q’FﬂiT', "GI'E'-T'—I%:{ IAA| o &Y
transportation channels : o wam H A £ 7
(1) Canberra (1) FFaq
(2) Tokyo (2) FfEAa
(3) Manhattan (3) HAged
(4)  Venice @) =g

73. Which one of the following is not a | 73. fr=fafaa § 9 =@ o= @ 7 @m ?
matching set ?
(1) Steel - Mud (1) H - TN
(2) Concrete - Beam (2) ki - sl
(3) Sound - Vibration (3) A - ELE|
(4) Heat - Insulation (4)  FeA - W

74. Tracing paper is : 74. ZIET TR ( A{CII-FI) FHEAIE?
(1) Black (1) Tl
(2) Transparent (2)  IgE
(3) | Semi-transparent (3) ey
(4) Opaque (#) e

75. Cavity walls are best suited against : 75. e i (Cavity walls) Frefifera 4 § wo @

Afuw feras! T 4 wad 82
(1) Heat 1) T
(2) Dust (2) Hd
(3) Light (3) e
(4) Rain (4) =9
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76. Which one of the following is an | 76. f=ifs%a g d 9 A Yo h! THEE <l
Earthquake resistant structure ? g7
(1)  Mud walls. (1) gt T 9 = San
(2) RCC framed. (2) AR € A A
(3)  Load bearing brick walled. (3) W U A T2 HI <an
(4) Random stone masonary. (4) 3Teha-T=] als ¥ el &t Faem
77.  Which is not a sound absorbing material ? | 77. A ga1d waf sfereieh 72 €7
(1) Jute Bags (1) 9294 |
(2) Thermocol (2)  HRIA
(3) Glass Wool (3) HE FwL
(4) Ground Glass (4) fo=m i
78. Who was the architect of Sansad Bhawan, | 78. ©g9g WA, ¢ fa@l & ETI'@FGQ‘GI?FI 9?
New Delhi ?
(1)  Alvar Alto (1) oTER el
(2)  Charles Correa (2) =" SR
(3) Herbert Baker (3) B =
(4) A.P. Kanvinde (4) Ui FHEfEe
79. Horizontal sun shades are required to | 79. g E@f, ¥aq & T 3R ?ﬁ, R YA !
protect windows on which facade of a fasfeal =0, 3@ =t faeol 4 s=m 82
building ?
(1)  South (1) =fam
(2) East 2y 9@
(3) West (3) dfveH
(4) North (4) W
80. Which structural component can be built | 80. ¥a9 % FMH YR 2 a0 &g, fo gea &
without steel reinforcement ? afd § 3 <1 9ha ¥ 7
(1) Folded concrete roof slabs (1) “heblc &I 8 @71 g3 ©d (heIfes @)
(2) Concrete beams (2) @I @ wieAl
(3) Flat concrete roof slabs (3) HHAA hehld hi Bd
(4) Domes 4) TR
-ofo- -o00o-
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Read the following instructions carefully:

frefofias fAeer sy | vz

1.

10.

11.

Part [ has 30 objective type questions of Mathematics
consisting of FOUR (4) marks each for each correct
response. Park 1T (Aptitude Test) has 50 objective type
questions consisting of FOUR (4) marks for each
correct response, Part 111 consists of 2 questions
carrving 70 marks which are to be attempted on a
separate Drawing Sheet which is also placed inside
this Test Booklet. Marks allotted to each question are
written against each question. For each incorrect
response in Part [ and Part 11, ene-fourth (%) of the
total marks allotted to the question would be deducted
from the total score. No deduction from the total score,
however, will be made if no response is indicated lor an
itern in the Answer Sheet.

Handle the Test Booklet, Answer Sheet and Drawing
Sheet with care, as under no circumstances {except for
discrepancy in Test Booklet Code and Answer Sheet
Code), another set will be provided.

The candidates are not allowed to do any rough work
or writing work on the Answer Sheet. All calculations/
writing work are to e done on the space provided for
this purpose in the Test Booklet itself, marked ‘Space
for Rough Work'. This space is given at the bottormn of
cach page and in 3 pages (pages 25 - 27)at the end of the
booklet,

Each candidate must show on demand his/her Admit
Card to the Invigilator,

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her
seat.

On completion of the test, the candidates should not
leave the examination hall without handing over their
Answer Sheet of Mathematics and Aptitude Test-Part |
& Il and Drawing Sheet of Aptitude Test-Part 11l to the
Invigilator on duty and sign the Attendance Sheet at
the time of handing over the same. Cases where a
candidate has not signed the Attendance Sheet the
second time will be deemed not have banded over
these documents and dealt with as an unfair means
case. The candidates are also required to put their left
hand THUMB impression in the space provided in the
Attendance Sheet. However, the candidates are
allowed to take away with them the Test Booklet of
Mathematics and Aptitude Test - Part [ & 1L

Use of Electronic/Manual Calculator or drawing
instruments (such as scale, compass etc.) is not allowed.

The candidates are governed by all Rules and
Regulations of the Board with regard to their conduct
in the Examination Hall. All cases of unfair means
will be dealt with as per Rules and Regulations of the
Board.

No part of the Test Booklet, Answer Sheet and Drawing,
Sheet shall be detached/folded or defaced under any
circumstances.

The candidates will write the Test Booklet Number as
given in the Test Booklet, Answer Sheet and Drawing
Sheet in the Attendance Sheet also.

Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
hall/room.

1.

10,

11

s & UNT 1§ 7o 30 aeqie weT § o wedle
WA F GEl I F for W (4) w7 FAuffeg fad o ¥
o [1 (i e ¥ 50 FEEE 9 § A v
& A & oAU = (4) o7 & ¢ FsTenT & W L H 29
% e o 70 ofF Fraifa € 0= w6t e giae
F 35T 1@l g vie W w3 ¥ | vee o g feifa
&l wed % W 2ffwd g1 um 1 #R v H wers
AT IUT h o0 39 WA o o fraifa 3o i w8
uw-dterd (14) i $t 2§ @ wre fom s af
TR A fadt oo o w7 I e fem e €, @
A E A Wé e T e |

e qfeaer], I U TF ST YRz R eArgde WA
Ft, it frdl oft afifeafa § (Fga W gfcm @
IR 73 % w12 o fumdr & feufa 51 gigwe) gud wian
e A9 ] O] A |

y{eqfeddt =71 39 79 W g ff TF FR A for@s H we
FH F1 AW a1 & 1| Ff oM ue far &1 W, ol
Y & Muifa sve i i T s & fom s g
iR €, R 31 TRl <R | 7% S Weldh I8 T A &
S T i F A H 3T (JB 25 - 27) WA E T
T A Wy el FlwE R g e Srg
feard )

afle m e =1 fadm sgafa & fa 8 ahemed
TR T 7 BS |

ey A @A ur, wenef frarst #1 aaw
o - 9 [ vE el g8arm - Wi 11 SR 9 uE
aifsi= adieqmr 9 i1 T SRT wWE < R Iufuft o
T STUA FEAAT TG T oh TV € TR BT 915 |
THI 5 F3 T T 91 A2 % 39/ 09 vd g7 v 78
e 7 E F8 oraf=a wraE WA A | T s
Tirgmel T AT gy & 3w Fren yufeuta ua §
fae T we W arave W) qenty, e st
T wE sfsrEte qRerm - dm 1vE 11w e gfeE ol
T Ed

I T qRFh a1 SR TR (W fE
THE, I SeATE ) T AT AT

TN Bt H AT & feaw, wiranedt =i o et o faforami
B0 Fafd & arfed s wam & 9 Tmel &
then 912 & i v fafam o aran g

el oft feafq 3 wlien qfeas, s v 79 R ¥iE #
HiE T T @ e T s s T @ Hien e
a e T |

{1 qfeetant, SO UA TS g 9 A o T gitan g
T 1 ydterredt 92 altE @ wfad v H off fad )
Tt gRY WA g/ wy ¥ vEW e & faam
el warrt sl ura wmaat, Hfed a1 safafay, wme=
i gfadl, U9, AEE BH, SHa2iiE STt a7
ferelt 2= WenTY =T | 6T o T 91 S9a S &
Al T %)
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